1.

RE7TAN XFX E#EPE (¢ +a)? 02

ROAXZHBHE L. (S5, A#40%, Bik15 108, CH24)

(1)

(3)

(5)

(7)

22 +2x+1

2 +6x+9

2?2 — 20z + 100

22 4+ 1.6z + 0.64

© -

(2) 22 —4dx + 4

(4) 2% —8zxy+ 16y

(6) 2%+ 122y + 36y

(8) % —zy+ =192
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2. ROAZRBOBEE. (S5, Afk40®, Bi143 107, C#k29)

(1) a>-2a+1 (2)  244t+4

(3) 2 —8c+16 (4) 2% — 102y + 25y
(5)  k?—18k+81 (6) a2+ 24y + 14442
(1) a®+ 1.4ab+ 0.49b (8) 22— % 2y + % 2
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R#HTAS XFHX BEHESE (z+a)? 02 HREFEHR

1. RXoXZ2REDETX. (S22, Afk40F, Bf15 108, C#k24)

* a? + 2ab + b%? = (a + b)?
* a? — 2ab + b? = (a — b)?

(1) 22+ 22 +1 (2) 2?2 —4x +4
=(z+1)? =(z —2)?

(3) 224+ 6x+9 (4) 2% — 8zy + 163>
=(xz+3)2 = (z — 4y)?

(5) % — 20z + 100 (6) 2% + 122y + 36y
= (z — 10)?2 = (= + 6y)2

(1) 22+ 1.62 + 0.64 (8) 22— azy+ iyz
= (x + 0.8)2

(- 39)
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2.

ROXZ KB L. (SH25F, AfK40#, B#k17 105, C#247)

(1) a?—2a+1

= (a—1)2

(3) c*—8c+16

= (c—4)2

(5) k% —18k+81

= (k — 9)?

) a? + 1.4ab + 0.49p>

= (a + 0.7b)?

© -

(2)  2+4t+4

= (t+2)2

(4) 2% —10xy + 259

= (z — 5y)*

(6) 22+ 24zy + 144y

= (z + 12y)?2

2 1 R
(8) T 2xy+ 16y

)
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